
Chapter 1 International Monetary System
1. Discuss the advantages and disadvantages of the gold standard.

2. One can say that the Bretton Woods system was programmed to an eventual demise. Comment on this proposition.

3. Suppose that the pound is pegged to gold at 6 pounds per ounce, whereas the franc is pegged to gold at 12 francs per ounce. This, of course, implies that the equilibrium exchange rate should be two francs per pound. If the current market exchange rate is 2.2 francs per pound, how would you take advantage of this situation? What would be the effect of shipping costs?

Suggested Answers：

1. The advantages of the gold standard include: (1) since the supply of gold is restricted, countries cannot have high inflation; (2) any BOP disequilibrium can be corrected automatically through cross-border flows of gold. On the other hand, the main disadvantages of the gold standard are: (1) the world economy can be subject to deflationary pressure due to restricted supply of gold; (2) the gold standard itself has no mechanism to enforce the rules of the game, and, as a result, countries may pursue economic policies (like de-monetization of gold) that are incompatible with the gold standard.

2. The answer to this question is related to the Triffin paradox. Under the gold-exchange system, the reserve-currency country should run BOP deficits to supply reserves to the world economy, but if the deficits are large and persistent, they can lead to a crisis of confidence in the reserve currency itself, eventually causing the downfall of the system.

3. Suppose that you need to buy 6 pounds using French francs. If you buy 6 pounds directly in the foreign exchange market, it will cost you 13.2 francs. Alternatively, you can first buy an ounce of gold for 12 francs in France and then ship it to England and sell it for 6 pounds. In this case, it only costs you 12 francs to buy 6 pounds. It is thus beneficial to ship gold due to the overpricing of the pound. Of course, you can make an arbitrage profit by selling 6 pounds for 13.2 francs in the foreign exchange market. The arbitrage profit will be 1.2 francs. So far, we assumed that shipping costs do not exist. If it costs more than 1.2 francs to ship an ounce of gold, there will be no arbitrage profit.

Chapter 2 Balance of Payment

1. Multiple-Choice Questions

（1） The U.S. current account does not include:

A. net exports of goods.                  
B. U.S. grants to foreign countries.

C. the sale of U.S. bonds to foreigners       
D. income receipts from foreigners.

（2） Which of the following is entered as a credit in the U.S. balance of payments?
A. A construction company in the U.S. imports $5 million worth of steel from Japan.

B. Gold leaves the U.S. Treasury for another country.
C. An American auto manufacturer exports $56 million in cars to Europe.
D. The United States grants $4 billion in aid to Russia.
2. True of False 

（1） A country with a current account surplus is saving more than its domestic capital formation. 
（2） A country's international investment position shows the extent of official intervention in the foreign exchange market. 
（3） A debit on the balance of payments represents a flow for which the country is paid. 
（4） If you receive a £300 check from your aunt in London, the value of that check will appear in the unilateral transfers’ category of the U.S. balance of payments. 
（5） Over the last twenty years, the U.S. merchandise trade balance has tended to be further in deficit than the U.S. goods and services balance. 
3. Problems

（1） Define balance of payments.

（2） Explain official reserve assets and its major components.

Suggested Answers:
1. (1) C (2) C 

2. (1) T (2) F (3) F (4) T (5) T

3. (1) Balance of Payment: The set of accounts recording all flows of value between a nation’s residents and the residents of the rest of the world during a period of time (usually is one year). It includes current account, capital and financial account, balance account.

(2) International reserve assets are money like assets that are held by governments and that are recognized by governments as fully acceptable for payments between them. It includes transactions undertaken by the authorities to finance the overall balance and intervene in foreign exchange markets. The component part of the international reserve includes gold reserves, foreign exchange reserves, reserve position in the Fund and special drawing rights.

Chapter 3 The Market for Foreign Exchange 

1. Multiple-Choice Questions 

（1） If a British pound equals 2.0287 U.S. dollar, what is the British pound equivalent of an U.S. dollar?
A. £.004929      
B. £0.4929     
C. £1.4929     
D. none of the above
（2） When a German buys a U.S. Treasury bond, there will be a(n):
A. increase in the demand for dollars
B. increase in the demand for marks
C. decrease in the demand for dollars
D. increase in the supply of dollars
（3） An appreciation in the U.S. dollar refers to:
A. an increase in the dollar price of a foreign currency
B. a decrease in the dollar price of a foreign currency
C. a decrease in the foreign currency price of the U.S. dollar
D. none of the above

2. True or False

(1) In a floating exchange rate system, monetary officials will buy and sell a currency in  order to keep its exchange rate in an officially stipulated band. 
(2) It is frequently possible for individuals to go to their local bank and carry out transactions so as to profit from triangular arbitrage. 
(3) The terms "devaluation" and "revaluation" pertain to changes in the price of a currency in a floating-rate exchange rate system. 
(4) China, Saudi Arabia, Egypt, and Hong Kong all have currencies that are fixed to the U.S. dollar. 
(5) The dollar is often called a vehicle currency. 
3. Problems

(1) Who are the market participants in the foreign exchange market?
(2) What is the triangular arbitrage? What is a condition that will give rise to a triangular arbitrage opportunity?
Suggested Answers:
1. (1) B (2) A (3) B 
2. (1)F (2) F (3) F (4) T (5) T
3. (1) The foreign exchange market participants include traditional users, foreign exchange    banks, foreign exchange brokers and central banks.
(2) Triangular arbitrage is the process of trading out of a first currency into a second currency, then trading it for a third currency, which is in turn traded for the first currency. The purpose is to earn an arbitrage profit via trading from the second to the third currency when the direct exchange rate between the two is not in alignment with the cross exchange rate.
Chapter 4 International Parity Relationships

1. Multiple-Choice Questions

（1） The monetary approach to exchange rates is generally:
A. successful in explaining short-run and long-run exchange rates.

B. successful in explaining short-run exchange rates, but is bad at explaining long-run exchange rates.

C. successful in explaining long-run exchange rates, but is bad at explaining short-run exchange rates.

D. bad at explaining short- and long-run exchange rates
（2） The quantity theory of money would predict that a 23% increase in Country A's money supply should eventually lead to a:
A. 11.5% increase in exchange rate value of the currency
B. 11.5% decrease in the exchange rate value of the currency.
C. 23% increase in the exchange rate value of the currency
D. 23% decrease in the exchange rate value of the currency
（3） Purchasing power parity predicts that when the difference between the United States' inflation rate and that of another country increases:
A. the dollar should appreciate.

B. the foreign currency should appreciate
C. the foreign currency should depreciate
D. the exchange rate should stay the same
（4） Purchasing power parity is more accurate in the long-run than in the short-run because:
A. the quantity theory of money is the more likely short-run determinant.

B. It takes time for currency markets to adjust to changes in price level.
C. the law of one price only holds in the short-run and never in the long run.
D. none of the above.
（5） Which of the following is not an accurate description of a limitation of purchasing power parity?
A. PPP predicts best when looking at the largest measures of price level such as the CPI.

B. PPP predicts moderately well at the level of all traded goods.
C. PPP predicts well at the level of one heavily trade commodity.
D. PPP predicts better over the long run than in the short run.
（6） If foreign interest rates increase, what implications would that have on the direction of international financial repositioning and on the current spot exchange rate?
A. repositioning towards domestic currency assets and the domestic currency depreciates

B. repositioning towards foreign currency assets and the domestic currency depreciates
C. repositioning towards domestic currency assets and the domestic currency appreciates
D. repositioning towards foreign currency assets and the domestic currency appreciates
2. True or False

（1） The asset market approach explains exchange rates as being part of the equilibrium for the markets for financial assets denominated in different currencies. 
（2） A decrease in the difference between the foreign interest rate and the domestic interest rate can be expected to lead to an increase in the spot interest rate.  
（3） Relative purchasing power parity states that international competition tends to equalize the home and foreign prices of traded goods and services. 

（4） Real exchange rates can be used as an indicator of deviations from purchasing power parity or as an indicator of a country's international price competitiveness. 
3. Problems

（1） Explain purchasing power parity, both the absolute and relative versions.
（2） Short-run pressures on market exchange rate result mainly from gradual changes in flows of international trade in goods and services. Do you agree or disagree? Why?
Suggested answers：
1. (1) C (2) D (3) B (4) B (5) A 

2. (1) T (2) F (3) F (4) F 

3. (1). Absolute purchasing power parity posits that a basket or bundle of tradable products will have the same cost in different countries if the cost is stated in the same currency. Relative PPP is often defined using an approximation. The ratio of the two exchange rates can be approximated by the percentage rate of appreciation (depreciation if negative) of the foreign currency over time. Relative PPP works tolerably well for longer periods of time.

(2). Disagree. First, exchange rates can be quite variable in the short run. This much variability does not seem to be consistent with the gradual changes in supply and demand for foreign currency that would occur as trade flows changed gradually. Second, the volume of trading in the foreign exchange market is much larger than the volume of international trade in goods and services. Only a small part of total activity in foreign exchange markets is related to payments for exports and imports. Most is related to international financial flows. International financial positioning and repositioning are likely to be quite changeable over short periods of time, explaining the variability of exchange rates in the short run. 

Chapter 5 Futures and Options on FX

1. Explain the basic differences between the operation of a currency forward market and a futures market.

2. In order for a derivatives market to function most efficiently, two types of economic agents are needed: hedgers and speculators. Explain.
3. What is meant by the terminology that an option is in-, at-, or out-of-the-money?

4. Assume today’s settlement price on a CME EUR futures contract is $1.3140/EUR. You have a short position in one contract. Your performance bond account currently has a balance of $1,700. The next three days’ settlement prices are $1.3126, $1.3133, and $1.3049. Calculate the changes in the performance bond account from daily marking-to-market and the balance of the performance bond account after the third day.
Suggested answers:
1. The forward market is an OTC market where the forward contract for purchase or sale of foreign currency is tailor-made between the client and its international bank.  No money changes hands until the maturity date of the contract when delivery and receipt are typically made.  A futures contract is an exchange-traded instrument with standardized features specifying contract size and delivery date. Futures contracts are marked-to-market daily to reflect changes in the settlement price. Delivery is seldom made in a futures market. Rather a reversing trade is made to close out a long or short position.

2. Two types of market participants are necessary for the efficient operation of a derivatives market: speculators and hedgers. A speculator attempts to profit from a change in the futures price.  To do this, the speculator will take a long or short position in a futures contract depending upon his expectations of future price movement. A hedger, on-the-other-hand, desires to avoid price variation by locking in a purchase price of the underlying asset through a long position in a futures contract or a sales price through a short position.  In effect, the hedger passes off the risk of price variation to the speculator who is better able, or at least more willing, to bear this risk.

3. A call (put) option with St > E (E > St) is referred to as trading in-the-money. If St ( E the option is trading at-the-money. If St < E (E < St) the call (put) option is trading out-of-the-money. 

4. $1,700 + [($1.3140 - $1.3126) + ($1.3126 - $1.3133)+ ($1.3133 - $1.3049)] x EUR125,000 = $2,837.50,

Where EUR125,000 is the contractual size of one EUR contract.

Chapter 6 Management of Transaction Exposure

1. How would you define transaction exposure? How is it different from economic exposure?
2. Suppose your company has purchased a put option on the German mark to manage exchange exposure associated with an account receivable denominated in that currency. In this case, your company can be said to have an ‘insurance’ policy on its receivable. Explain in what sense this is so.

3. Explain cross-hedging and discuss the factors determining its effectiveness.

4. Cray Research sold a super computer to the Max Planck Institute in Germany on credit and invoiced €10 million payable in six months. Currently, the six-month forward exchange rate is $1.10/€ and the foreign exchange advisor for Cray Research predicts that the spot rate is likely to be $1.05/€ in six  months.

(a) What is the expected gain/loss from the forward hedging?

(b) If you were the financial manager of Cray Research, would you recommend hedging this euro receivable?  Why or why not?

(c) Suppose the foreign exchange advisor predicts that the future spot rate will be the same as the forward exchange rate quoted today. Would you recommend hedging in this case?  Why or why not?
5. You plan to visit Geneva, Switzerland in three months to attend an international business conference. You expect to incur the total cost of SF 5,000 for lodging, meals and transportation during your stay. As of today, the spot exchange rate is $0.60/SF and the three-month forward rate is $0.63/SF. You can buy the three-month call option on SF with the exercise rate of $0.64/SF for the premium of $0.05 per SF. Assume that your expected future spot exchange rate is the same as the forward rate. The three-month interest rate is 6 percent per annum in the United States and 4 percent per annum in Switzerland.

(a) Calculate your expected dollar cost of buying SF5,000 if you choose to hedge via call option on SF.

(b) Calculate the future dollar cost of meeting this SF obligation if you decide to hedge using a forward contract.

(c) At what future spot exchange rate will you be indifferent between the forward and option market hedges?

(d) Illustrate the future dollar costs of meeting the SF payable against the future spot exchange rate under both the options and forward market hedges.

Suggested answers:
1. Transaction exposure is the sensitivity of realized domestic currency values of the firm’s contractual cash flows denominated in foreign currencies to unexpected changes in exchange rates. Unlike economic exposure, transaction exposure is well-defined and short-term.
2. Your company in this case knows in advance that it will receive a certain minimum dollar amount no matter what might happen to the $/€ exchange rate. Furthermore, if the German mark appreciates, your company will benefit from the rising euro.

3. Cross-hedging involves hedging a position in one asset by taking a position in another asset. The effectiveness of cross-hedging would depend on the strength and stability of the relationship between the two assets.

4. (a) Expected gain ($) = 10,000,000(1.10 – 1.05) = 10,000,000(.05) = $500,000.

(b) I would recommend hedging because Cray Research can increase the expected dollar receipt by $500,000 and also eliminate the exchange risk.

(c) Since I eliminate risk without sacrificing dollar receipt, I still would recommend hedging.
5. (a) Total option premium = (.05)x(5000) = $250. In three months, $250 is worth $253.75 = $250(1.015). At the expected future spot rate of $0.63/SF, which is less than the exercise price, you don’t expect to exercise options. Rather, you expect to buy Swiss franc at $0.63/SF. Since you are going to buy SF5,000, you expect to spend $3,150 (=.63x5,000). Thus, the total expected cost of buying SF5,000 will be the sum of $3,150 and $253.75, i.e., $3,403.75.

(b) $3,150 = (.63)x(5,000).

(c) $3,150 = 5,000x + 253.75, where x represents the break-even future spot rate. Solving for x, we obtain x = $0.57925/SF. Note that at the break-even future spot rate, options will not be exercised. (d) If the Swiss franc appreciates beyond $0.64/SF, which is the exercise price of call option, you will exercise the option and buy SF5,000 for $3,200. The total cost of buying SF5,000 will be $3,453.75 = $3,200 + $253.75.

Chapter 7 Management of Economic Exposure

1. How would you define economic exposure to exchange risk?

2. Explain the following statement: “Exposure is the regression coefficient.”
3. Suppose that your company has an equity position in a French firm. Discuss the condition under which the dollar/franc exchange rate uncertainty does not constitute exchange exposure for your company.

4. Discuss the determinants of operating exposure.

5. Suppose that you hold a piece of land in the City of London that you may want to sell in one year. As a U.S. resident, you are concerned with the dollar value of the land. Assume that, if the British economy booms in the future, the land will be worth £2,000 and one British pound will be worth $1.40. If the British economy slows down, on the other hand, the land will be worth less, i.e., £1,500, but the pound will be stronger, i.e., $1.50/£. You feel that the British economy will experience a boom with a 60% probability and a slow-down with a 40% probability.

(a) Estimate your exposure b to the exchange risk.

(b) Compute the variance of the dollar value of your property that is attributable to the exchange rate uncertainty.

(c) Discuss how you can hedge your exchange risk exposure and also examine the consequences of hedging.

Suggested answers:
1. Economic exposure can be defined as the possibility that the firm’s cash flows and thus its market value may be affected by the unexpected exchange rate changes.

2. Exposure to currency risk can be appropriately measured by the sensitivity of the firm’s future cash flows and the market value to random changes in exchange rates. Statistically, this sensitivity can be estimated by the regression coefficient. Thus, exposure can be said to be the regression coefficient.

3. Mere changes in exchange rates do not necessarily constitute currency exposure. If the French franc value of the equity moves in the opposite direction as much as the dollar value of the franc changes, then the dollar value of the equity position will be insensitive to exchange rate movements. As a result, your company will not be exposed to currency risk.

4. The main determinants of a firm’s operating exposure are (1) the structure of the markets in which the firm sources its inputs, such as labor and materials, and sells its products, and (2) the firm’s ability to mitigate the effect of exchange rate changes by adjusting its markets, product mix, and sourcing. 

5. (a) Let us compute the necessary parameter values:

E(P) = (.6)($2800)+(.4)($2250) = $1680+$900 = $2,580

E(S) = (.6)(1.40)+(.4)(1.5) = 0.84+0.60 = $1.44

Var(S) = (.6)(1.40-1.44)2 + (.4)(1.50-1.44)2 = .00096+.00144 = .0024.

Cov(P,S) = (.6)(2800-2580)(1.4-1.44)+(.4)(2250-2580)(1.5-1.44)= -5.28-7.92 = -13.20

b = Cov(P,S)/Var(S) = -13.20/.0024 = -£5,500.

You have a negative exposure! As the pound gets stronger (weaker) against the dollar, the dollar value of your British holding goes down (up).

(b) b2Var(S) = (-5500)2(.0024) =72,600($)2

(c) Buy £5,500 forward. By doing so, you can eliminate the volatility of the dollar value of your British asset that is due to the exchange rate volatility.

Chapter 8 International Banking and Money Market
1. Briefly discuss some of the services that international banks provide their customers and the market place.

2. How does the deposit-loan rate spread in the Eurodollar market compare with the deposit-loan rate spread in the domestic U.S. banking system? Why?

3. Grecian Tile Manufacturing of Athens, Georgia, borrows $1,500,000 at LIBOR plus a lending margin of 1.25 percent per annum on a six-month rollover basis from a London bank.  If six-month LIBOR is 4 ½ percent over the first six-month interval and 5 3/8 percent over the second six-month interval, how much will Grecian Tile pay in interest over the first year of its Eurodollar loan?

4. A bank sells a “three against six” $3,000,000 FRA for a three-month period beginning three months from today and ending six months from today. The purpose of the FRA is to cover the interest rate risk caused by the maturity mismatch from having made a three-month Eurodollar loan and having accepted a six-month Eurodollar deposit. The agreement rate with the buyer is 5.5 percent.  There are actually 92 days in the three-month FRA period.  Assume that three months from today the settlement rate is 4 7/8 percent. Determine how much the FRA is worth and who pays who--the buyer pays the seller or the seller pays the buyer.

5. A “three-against-nine” FRA has an agreement rate of 4.75 percent. You believe six-month LIBOR in three months will be 5.125 percent. You decide to take a speculative position in a FRA with a $1,000,000 notional value. There are 183 days in the FRA period. Determine whether you should buy or sell the FRA and what your expected profit will be if your forecast is correct about the six-month LIBOR rate.

Suggested answers:

1. （1）International banks can be characterized by the types of services they provide that distinguish them from domestic banks.  Foremost, international banks facilitate the imports and exports of their clients by arranging trade financing.  Additionally, they serve their clients by arranging for foreign exchange necessary to conduct cross-border transactions and make foreign investments and by assisting in hedging exchange rate risk in foreign currency receivables and payables through forward and options contracts.  Since international banks have established trading facilities, they generally trade foreign exchange products for their own account.（2）Two major features that distinguish international banks from domestic banks are the types of deposits they accept and the loans and investments they make. Large international banks both borrow and lend in the Eurocurrency market. Moreover, depending upon the regulations of the country in which it operates and its organizational type, an international bank may participate in the underwriting of Eurobonds and foreign bonds.（3）International banks frequently provide consulting services and advice to their clients in the areas of foreign exchange hedging strategies, interest rate and currency swap financing, and international cash management services. Not all international banks provide all services.  Banks that do provide a majority of these services are known as universal banks or full service banks.

2. Competition has driven the deposit-loan spread in the domestic U.S. banking system to about the same level as in the Eurodollar market.  That is, in the Eurodollar market the deposit rate is about the same as the deposit rate for dollars in the U.S. banking system. Similarly the lending rates are about the same. In theory, the Eurodollar market can operate at a lower cost than the U.S. banking system because it is not subject to mandatory reserve requirements on deposits or deposit insurance on foreign currency deposits.

3. $1,500,000 x (.045 + .0125)/2 + $1,500,000 x (.05375 + .0125)/2 = $43,125 + $49,687.50 = $92,812.50.

4. Since the settlement rate is less than the agreement rate, the buyer pays the seller the absolute value of the FRA. The absolute value of the FRA is:

$3,000,000 x [(.04875-.055) x 92/360]/[1 + (.04875 x 92/360)] =  $3,000,000 x [-.001597/(1.012458)] =  $4,732.05.

5. Since the agreement rate is less than your forecast, you should buy a FRA.  If your forecast is correct your expected profit will be:

 $1,000,000 x [(.05125-.0475) x 183/360]/[1 + (.05125 x 183/360)] =  $1,000,000 x [.001906/(1.026052)]=  $1,857.61.

Chapter 9 International Bond Market
1. Why do most international bonds have high Moody’s or Standard & Poor’s credit ratings?
2. What factors does Standard & Poor’s analyze in determining the credit rating it assigns to a sovereign government?

3. You are an investment banker advising a Eurobank about a new international bond offering it is considering.  The proceeds are to be used to fund Eurodollar loans to bank clients. What type of bond instrument would you recommend that the bank consider issuing? Why?

4. Your firm has just issued five-year floating-rate notes indexed to six-month U.S. dollar LIBOR plus 1/4%. What is the amount of the first coupon payment your firm will pay per U.S. $1,000 of face value, if six-month LIBOR is currently 7.2%?

5. The discussion of zero-coupon bonds in the text gave an example of two zero-coupon bonds issued by Commerzbank. The DM300,000,000 issue due in 1995 sold at 50 percent of face value, and the DM300,000,000 due in 2000 sold at 33 1/3 percent of face value; both were issued in 1985. Calculate the implied yield to maturity of each of these two zero-coupon bond issues.

Suggested answers:

1. Moody’s Investors Service and Standard & Poor’s provide credit ratings on most international bond issues.  It has been noted that a disproportionate share of international bonds have high credit ratings.  The evidence suggests that a logical reason for this is that the Eurobond market is only accessible to firms that have good credit ratings to begin with. 

2. In rating a sovereign government, S&P’s analysis centers around an examination of:  political risk, income and economic structure, economic growth prospects, fiscal flexibility, general government debt burden, offshore and contingent liabilities, monetary flexibility, external liquidity, public-sector external debt burden, and private-sector debt burden. The rating assigned to a sovereign is particularly important because it usually represents the ceiling for ratings S&P will assign to an obligation of an entity domiciled within that country.

3. Since the Eurobank desires to use the bond proceeds to finance Eurodollar loans, which are floating-rate loans, the investment banker should recommend that the bank issue FRNs, which are a variable rate instrument.  Thus there will a correspondence between the interest rate the bank pays for funds and the interest rate it receives from its loans.  For example, if the bank frequently makes term loans indexed to 3-month LIBOR, it might want to issue FRNs, also, indexed to 3-month LIBOR.

4. 0.5 x (.072 + .0025) x $1,000 = $37.25.
5. The bonds due in 1995 sold at 50% percent of face value.  Since they were issued in 1985, they had a ten year maturity.  Assuming a DM1,000 par value, their yield-to-maturity is:  (DM1,000/DM500)1/10 - 1 = .07177 or 7.177% per annum.

The bonds due in year 2000 sold at 33 1/3%.  They have a 15 year maturity.  Their yield-to-maturity is:  (DM1,000/DM333.33)1/15 - 1 =.07599 or  7.599% per annum.

Chapter 10 International equity Market
1. As an investor, what factors would you consider before investing in the emerging stock market of a developing country?
2. Why might it be easier for an investor desiring to diversify his portfolio internationally to buy depository receipts rather than the actual shares of the company?

3. On the Milan bourse, Fiat stock closed at EUR5.84 per share on Thursday, March 3, 2005.  Fiat trades as and ADR on the NYSE.  One underlying Fiat share equals one ADR.  On March 3, the $/EUR spot exchange rate was $1.3112/EUR1.00.  

a. At this exchange rate, what is the no-arbitrage U.S. dollar price of one ADR?

b. By comparison, Fiat ADRs closed at $7.61.  Do you think an arbitrage opportunity exists?

4. If Fiat ADRs were trading at $7 when the underlying shares were trading in Milan at EUR5.84, what could you do to earn a trading profit?  Use the information in problem 1, above, to help you and assume that transaction costs are negligible.

Suggested answers:

1. An investor in emerging market stocks needs to be concerned with the depth of the market and the market’s liquidity.  Depth of the market refers to the opportunities to invest in the country. One measure of the depth of the market is the concentration ratio of a country’s stock market. The concentration ratio frequently is calculated to show the market value of the ten largest stock traded as a fraction of the total market capitalization of all equities traded.  The higher the concentration ratio, the less deep is the market.  That is, most value is concentrated in only a few companies. While this does not necessarily imply that the largest stocks in the emerging market are not good investments, it does, however, suggest that there are few opportunities for investment in that country and that proper diversification within the country may be difficult.  In terms of liquidity, an investor would be wise to examine the market turnover ratio of the country’s stock market. High market turnover suggests that the market is liquid, or that there are opportunities for purchasing or selling the stock quickly at close to the current market price. This is important because liquidity means you can get in or out of a stock position quickly without spending more than you intended on purchase or receiving less than you expected on sale.

2. A depository receipt can be purchased on the investor’s domestic exchange. It represents a package of the underlying foreign security that is priced in the investor’s local currency and in a trading range that is typical for the investor’s marketplace. The investor can purchase a depository receipt directly from his domestic broker, rather than having to deal with an overseas broker and the necessity of obtaining foreign funds to make the foreign stock purchase. Additionally, dividends are received in the local currency rather than in foreign funds that would need to be converted into the local currency.

3. a. The no-arbitrage ADR U.S. dollar price is:  EUR5.84 x $1.3112 = $7.66.

b. It is unlikely that an arbitrage opportunity exists after transaction costs. Additionally the slight difference in prices is likely accounted for by a difference in information contained in prices since the ADR market in New York closed several hours after the Milan bourse.

4. As the solution to problem 1 shows, the no-arbitrage ADR U.S. dollar price is $7.66. If Fiat ADRs were trading at $7, a wise investor would buy the relatively undervalued ADRs.  Since the ADRs are a derivative security, one would expect the ADRs to increase in price from $7 to $7.66.  Assuming this happens, the position could be liquidated for a profit of $7.66 - $7.00 = $0.66 per ADR.

Chapter 11 Interest Rate and Currency Swaps
1. Describe the difference between a swap broker and a swap dealer.
2. What is the necessary condition for a fixed-for-floating interest rate swap to be possible?
3. Discuss the basic motivations for a counterparty to enter into a currency swap.  

4. Company A is a AAA-rated firm desiring to issue five-year FRNs.  It finds that it can issue FRNs at six-month LIBOR + .125 percent or at three-month LIBOR + .125 percent.  Given its asset structure,  three-month LIBOR is the preferred index.  Company B is an A-rated firm that also desires to issue five-year FRNs.  It finds it can issue at six-month LIBOR + 1.0 percent or at three-month LIBOR + .625 percent.  Given its asset structure, six-month LIBOR is the preferred index.  Assume a notional principal of $15,000,000.  Determine the QSD and set up a floating-for-floating rate swap where the swap bank receives .125 percent and the two counterparties share the remaining savings equally.
5. Alpha and Beta Companies can borrow for a five-year term at the following rates: 
Alpha

Beta
Moody’s credit rating
          Aa

Baa

Fixed-rate borrowing cost

 1 0.5%

12.0%

Floating-rate borrowing cost
LIBOR
LIBOR + 1%

a. Calculate the quality spread differential (QSD).

b. Develop an interest rate swap in which both Alpha and Beta have an equal cost savings in their borrowing costs.  Assume Alpha desires floating-rate debt and Beta desires fixed-rate debt.  No swap bank is involved in this transaction.
Suggested answers:

1. A swap broker arranges a swap between two counterparties for a fee without taking a risk position in the swap.  A swap dealer is a market maker of swaps and assumes a risk position in matching opposite sides of a swap and in assuring that each counterparty fulfills its contractual obligation to the other.

2. For a fixed-for-floating interest rate swap to be possible it is necessary for a quality spread differential to exist.  In general, the default-risk premium of the fixed-rate debt will be larger than the default-risk premium of the floating-rate debt.

3. One basic reason for a counterparty to enter into a currency swap is to exploit the comparative advantage of the other in obtaining debt financing at a lower interest rate than could be obtained on its own.  A second basic reason is to lock in long-term exchange rates in the repayment of debt service obligations denominated in a foreign currency.

4. The quality spread differential is [(Six-month LIBOR + 1.0 percent) minus (Six-month LIBOR + .125 percent) =] .875 percent minus [(Three-month LIBOR + .625 percent) minus (Three-month LIBOR + .125 percent) =] .50 percent, which equals .375 percent.  If the swap bank receives .125 percent, each counterparty is to save .125 percent.  To effect the swap, Company A would issue FRNs indexed to six-month LIBOR and Company B would issue FRNs indexed three-month LIBOR.  Company B might make semi-annual payments of six-month LIBOR + .125 percent to the swap bank, which would pass all of it through to Company A.  Company A, in turn, might make quarterly payments of three-month LIBOR to the swap bank, which would pass through three-month LIBOR - .125 percent to Company B.  On an annualized basis, Company B will remit to the swap bank six-month LIBOR + .125 percent and pay three-month LIBOR + .625 percent on its FRNs.  It will receive three-month LIBOR - .125 percent from the swap bank.  This arrangement results in an all-in cost of the six-month LIBOR + .825 percent, which is a rate .125 percent below the FRNs indexed to six-month LIBOR + 1.0 percent Company B could issue on its own.  Company A will remit three-month LIBOR to the swap bank and pay six-month LIBOR + .125 percent on its FRNs.  It will receive six-month LIBOR + .125 percent from the swap bank.  This arrangement results in an all-in cost of three-month LIBOR for Company A, which is .125 percent less than the FRNs indexed to three-month LIBOR + .125 percent it could issue on its own.  The arrangements with the two counterparties net the swap bank .125 percent per annum, received quarterly.

5. a. The QSD = (12.0% - 10.5%) minus (LIBOR + 1% - LIBOR) = .5%.

b. Alpha needs to issue fixed-rate debt at 10.5% and Beta needs to issue floating rate-debt at LIBOR + 1%.  Alpha needs to pay LIBOR to Beta.  Beta needs to pay 10.75% to Alpha.  If this is done, Alpha’s floating-rate all-in-cost is:  10.5% + LIBOR - 10.75% = LIBOR - .25%, a .25% savings over issuing floating-rate debt on its own.  Beta’s fixed-rate all-in-cost is:  LIBOR+ 1% + 10.75% - LIBOR = 11.75%, a .25% savings over issuing fixed-rate debt.

Chapter 12 International Portfolio Investment 

1. What factors are responsible for the recent surge in international portfolio investment (IPI)?
2. Security returns are found to be less correlated across countries than within a country. Why can this be?

3. Explain the concept of the world beta of a security.
4. Would exchange rate changes always increase the risk of foreign investment? Discuss the condition under which exchange rate changes may actually reduce the risk of foreign investment.

5. Mr. James K. Silber, an avid international investor, just sold a share of Nestlé, a Swiss firm, for SF5,080. The share was bought for SF4,600 a year ago. The exchange rate is SF1.60 per U.S. dollar now and was SF1.78 per dollar a year ago. Mr. Silber received SF120 as a cash dividend immediately before the share was sold. Compute the rate of return on this investment in terms of U.S. dollars.

Suggested answers:
1. The recent surge in international portfolio investments reflects the globalization of financial markets. Specifically, many countries have liberalized and deregulated their capital and foreign exchange markets in recent years. In addition, commercial and investment banks have facilitated international investments by introducing such products as American Depository Receipts (ADRs) and country funds. Also, recent advancements in computer and telecommunication technologies led to a major reduction in transaction and information costs associated with international investments. In addition, investors might have become more aware of the potential gains from international investments.

2. Security returns are less correlated probably because countries are different from each other in terms of industry structure, resource endowments, macroeconomic policies, and have non-synchronous business cycles. Securities from a same country are subject to the same business cycle and macroeconomic policies, thus causing high correlations among their returns.

3. The world beta measures the sensitivity of returns to a security to returns to the world market portfolio. It is a measure of the systematic risk of the security in a global setting. Statistically, the world beta can be defined as:

                Cov(Ri, RM)/Var(RM),

where Ri and RM are returns to the i-th security and the world market portfolio, respectively.

4. Exchange rate changes need not always increase the risk of foreign investment. When the covariance between exchange rate changes and the local market returns is sufficiently negative to offset the positive variance of exchange rate changes, exchange rate volatility can actually reduce the risk of foreign investment.

5. Mr. Silber must have paid $2,584.27 (=4,600/1.78) for a share of Néstle a year ago. When the share was liquidated, he must have received $3,250 [=(5,080 + 120)/1.60]. Therefore, the rate of return in dollar terms is:

    R($) = [(3,250-2,584.27)/2584.27] x 100 = 25.76%.   

Chapter 13 International Capital Structure and the Cost of Capital
1. Multiple-Choice Questions

(1) The cost of capital is:

A. the minimum rate of return an investment project must generate in order to pay its financing costs

B. the minimum rate of return an investment project must generate in order to pay its financing costs plus a reasonable profit

C. the maximum rate of return an investment project must generate in order to pay its financing costs

D. the maximum rate of return an investment project must generate in order to pay its financing costs plus a reasonable profit

(2) Find the weighted average cost of capital for a firm that has a debt-to-equity ratio of 1½, a tax rate of 34%, a levered cost of equity of 12% and an after-tax cost of debt of 8%

A. 9.6%

B. 7.968%

C. 14%

D. none of the above

(3) For most countries and most firms, the domestic country beta

A. Can be no lower than its world beta

B. Is normally much smaller than the world beta

C. Is normally much much higher than the world beta

D. Is exactly equal to the world beta

(4) Suppose the domestic U.S. beta of IBM is 1.0, that is
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, and that the expected return on the U.S. market portfolio is 
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= 12 percent, and that the U.S. T-bill rate is 6 percent. If the world beta measure of IBM is 
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 then we can say

A. That if the U.S. markets are fully integrated with the rest of the world, IBM’s cost of equity capital would be 20% lower than if U.S. markets were segmented.

B. That if the U.S. markets are fully integrated with the rest of the world, IBM’s cost of equity capital would be 10% lower than if U.S. markets were segmented.

C. That if the U.S. markets are fully integrated with the rest of the world, IBM’s cost of equity capital would be one-third lower than if U.S. markets were segmented.

D. None of the above

(5) Recent studies suggest that agency costs of managerial discretion are lower in Japan than in the United States. This suggests that

A. The cost of capital can be lower in Japan than the United States, but only if international financial markets are not fully integrated

B. The cost of capital can be lower in Japan than the United States, even if international financial markets are fully integrated

C. The cost of capital will be higher in Japan than the United States, even if international financial markets are fully integrated

D. None of the above

(6) Benetton, an Italian clothier, is listed on the New York Stock Exchange.

A. This decision provides their shareholders with a higher degree of protection than is available in Italy.

B. This decision can be a signal of the company’s commitment to shareholder rights.

C. This may make investors both in Italy and abroad more willing to provide capital and to increase the value of the pre-existing shares.

D. All of the above

2. Caculation

(1) Compute the domestic country beta of Stansfield Bicycles as well as its world beta

	
	Correlation Coefficients
	
	

	
	Stansfield
	England
	World
	SD(%)
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%

	Stansfield
	1.00
	0.90
	0.60
	20
	?

	England
	
	1.00
	0.80
	18
	14

	World
	
	
	1.00
	15
	12


(2)Suppose that the British stock market is segmented from the rest of the world. Using the CAPM and a risk-free rate of 5%, estimate the equity cost of capital for Stansfield

	
	Correlation Coefficients
	
	

	
	Stansfield
	England
	World
	SD(%)
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	Stansfield
	1.00
	0.90
	0.60
	20
	?

	England
	
	1.00
	0.80
	18
	14

	World
	
	
	1.00
	15
	12


Suggested answers:
1. A（2）A（3）A（4）B（5）B（6）D
2. (1) Answer: 1.00 and 0.80 respectively

Rationale: The formula for beta is given by
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To find Stansfield’s domestic country beta, we use domestic market data:

That and recalling the formula relating covariance and correlation: 
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To find Stansfield’s world beta do the above again with world data:
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(2)Answer: 14%

Rationale: For a student who has done the previous problem correctly, this is easy. Repeating that work is hard:

The formula for beta is given by
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To find Stansfield’s domestic country beta, we use domestic market data:

That and recalling the formula relating covariance and correlation: 
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After finding the beta, using the CAPM is a walk in the park if you have a risk-free rate and a market risk premium. The risk-free rate is given as 5%. Finding the market risk premium, notice that the expected return on the entire English market is 14%:
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Chapter 14 International Capital Budgeting

1.    Why is capital budgeting analysis so important to the firm?
2.    What is the intuition behind the NPV capital budgeting framework?

3.    Discuss what is meant by the incremental cash flows of a capital project.

4.    What makes the APV capital budgeting framework useful for analyzing foreign capital expenditures?

5.    The Alpha Company plans to establish a subsidiary in Hungary to manufacture and sell fashion wristwatches.  Alpha has total assets of $70 million, of which $45 million is equity financed.  The remainder is financed with debt.  Alpha considered its current capital structure optimal.  The construction cost of the Hungarian facility in forints is estimated at HUF2,400,000,000, of which HUF1,800,000,000 is to be financed at a below-market borrowing rate arranged by the Hungarian government.  Alpha wonders what amount of debt it should use in calculating the tax shields on interest payments in its capital budgeting analysis.  Can you offer assistance?

Suggested answers:

1. The fundamental goal of the financial manager is to maximize shareholder wealth.  Capital investments with positive NPV or APV contribute to shareholder wealth.  Additionally, capital investments generally represent large expenditures relative to the value of the entire firm.  These investments determine how efficiently and expensively the firm will produce its product.  Consequently, capital expenditures determine the long-run competitive position of the firm in the product marketplace.  

2. The NPV framework is a discounted cash flow technique.  The methodology compares the present value of all cash inflows associated with the proposed project versus the present value of all project outflows.  If inflows are enough to cover all operating costs and financing costs, the project adds wealth to shareholders.
3. Incremental cash flows are denoted by the change in total firm cash inflows and cash outflows that can be traced directly to the project under analysis.

4. The APV framework is a value-additivity technique.  Because international projects frequently have cash flows not encountered in domestic projects, the APV technique easily allows the analyst to add terms to the model that represent the special cash flows.

5. The Alpha Company has an optimal debt ratio of  .357 (= $25 million debt/$70 million assets) or 35.7%.  The project debt ratio is .75 (= HUF1,800/HUF2,400) or 75%.  Alpha will overstate the tax shield on interest payments if it uses the 75% figure because the proposed project will only increase borrowing capacity by HUF856,800,000 (=HUF2,400,000,000 x .357).
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